Signature and Name of Invigilator
1. (Signature)
(Name)
2. (Signature)
(Name)

N 1

Time : 2Y2 hours]

7

PAPER - I1I
PUBLIC ADMINISTRATION [Maximum Marks : 150

OMR Sheet No.:

To be filled by the Candidate)

Roll No.

(In figures as per admission card

Roll No.

(In words)

Number of Pages in this Booklet : 32

Number of Questions in tI}is" Booklet : 75

Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of seventy five multiple-choice type of
questions.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do notaccept

a booklet without sticker-seal and do not accept an open

booklet.

Tally the number of pages and number of questions in

the booklet with the information printed on the cover

page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other

discrepancy should be got replaced immediately by a

correct booklet from the invigilator within the period

of 5 minutes. Afterwards, neither the Questlon oklet
will be replaced nor any extra time will be g1v

After this verification is over, the Test Booklet

should be entered on the OMR Sheet and the

Number should be entered on this Tes§Booklet.

Each item has four alternative responses marked @), (2), (3)

and (4). You have to darken the circle as indicated below on

the correct response against each item.

Example: @) @) @ (@ where (3) is the correct response.

5. Your responses to the items are td be indicated in the OMR

Sheet given inside the Booklet only s you mark your

response at any place other than in the circle in the OMR

Sheet, it will not be evaluated.

Read instructions given igside carefully.

Rough Work is to be done in'the end of this booklet.

8. If yout write your Name, Rzl Number, Phone Number or

(ii)

mber
Sheet

(iii)

N o

put any mark on any part of the ©MR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the entf1 of the examination compulsorily and must not
carry it withryou outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.

TiternfelEi o fere frder

W@#wmﬁwﬂmmﬁawm{

2. 38 YE-T9 H ToRR Sgfashedd TE ¢ |

10.
11.

12.
13.

e TR B W, Y9H-YfGdehT SAThT < & SR | Tt Ui e
IR e~k WieH dd1 SH! fAfafed sie & fau e
(i) -G Gren * fan gice W @ wES & o

FTE o [ gt g2 A1 T S -iet Y R T e A |
ﬁwﬂm@ﬁwm—g@mﬁawawuﬁﬁ

[ e W Rt W O et TR A v ¥ Syt ufien

Tt g/ ot o & o1 ge o T o o e § &
et oft warre @t Ffequt gt @i 7wt qor
I FATETERT SHeh T 0T g Wt U9 -gRaent o
forg smroenr fer frre fod w1 swes s A o
mmgﬁamwﬁa@?ﬁaﬁiwémaﬁﬁ?ﬁ
fea e |
(iii) 39 W= & o TA-F&ThT T TR OMR T W 3ifehd Hi
3T OMR 9= ol oR 30 Y¥-Jfdehl R siferd T T |
A% U9 % foaT =R W fawed (1), (2), (3) 7 (4) fe& ™ ¥
3MIHT TEl IR F I Hl U7 F WAL FIeA A € S fF A=
fommn T 71
T[MROT: (D @ @ @ v (3) Wl W
T % I hael U9 YRRt o 3T fedl T OMR Uoah W&
3ifhd A €1 9 3T OMR 9ok R 3 T8 g1 & oTarran foreht
3T WM R IN Fogiferd & §, O TR qediond T8 g |
a1 fad T fAdRTT ol e v |
= %M (Rough Work) 30 &l & 31f<H g8 T |
9fg 37 OMR s W 7o = & STolren 3191 M, U TR,
ThIF TR A1 g ot U1 g @ emuent wg=m & 9o, 3iferd d
T A AN W H WA A €, A FE A (G A B
AR W €, S T siferd ford T IR 1 faer @ wthe @ |
e O Tien % fed sl wifd fRa S TeRd €1
39T TRI&T THE € W gt OMR T FRieTeh Heied &l et
STavash § TR Tden Tt <6 a1 39 ST | WaT o ¥ Sl
7 TR S | BTeAifeh 119 qieT A1 T gel Je-gRqent e OMR
T h! iR Ufd STI T o S Heh & |
heIeT AT/ Tt STt @SS U ahT &f W& Shi
foret off YRR T ETUTHR (FAHere ) a1 T Sae i i
I At ¥
TeAd ST o fTU g TenTTeeh 3ieh <&l &1
Ffe st =1 f&t foremmr & =g fowimfa &1, @ TSt feremo Sifaw
HET ST |

—

N-01417

P.T.O.

www.examrace.com



PUBLIC ADMINISTRATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which one of following is the correct translation of Henri Fayol’s book, Administration and
Industrielle et Generale ? {
(1) General and Industrial Management .'(;
(2) General Administration and Industrial Management { r
(3) General and Industrial Administration
(4) Industrial and General Administration .

2. Assertion (A) : Woodrow Wilson enactedbl;?any of the 1‘efo1‘mIi proposals that were
considered part and parcel o progresswe movement.
Reason (R) : Woodrow Wilson rejected the idea of comparison in public administration.
| |

Code : f ‘l .
(1) Both (A) and (R) are correct and (R) is the co E# explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false. "4 (
(4) (A) is false, but (R) is true*\ | -
Vi i
3. Mary Parker Follett believed in the idea that power is a source of :
(1) Conflict . (2) Ability to make things happen
(3) Exploitation § J{ (4) Domination
4.  The discovery I d application of Universal and Scientific administrative principles that can

improve any organisation’s efficiency and effectiveness, is called :
/ (1) Scientific \\%n&gement Theory

(2) Bureaucratic Theory

(3) Administrative Management Theory

(4)" Human Relations Theory

|

5. Th‘e‘essay entitled “The Science of Public Administration : Three Problems” was authored
by _
(1) Herbert A. Simon (2) Dwight Waldo
F. C. Mosher (4) Robert Dahl
ST :
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6.  Which of the following is not included in the driving needs of the self-actualizers by Abraham
Maslow ?
(1) Perfection (2)  Uniqueness (3) Dependency (4) Goodness
7.  Match List-I with List-II. Select the correct answer from the code given below :
List-I List-1I
(Concept) (Explanation) i
(a) Planning (i)  Establishing the formal structure of authority ; rr‘ )
(b) Coordinating (ii) How to do and what to do ? f r
(c) Organizing (iii) Fitting persons to the structure/job
(d) Staffing (iv) Inter-relating the various parts of the work/organization
Code : 4 £ °,
@ ® © @ b |
1 O 6@ @) (@) / [
2 @ @) @ () / 1 |
G @ @ @) (@) \ (/
@ @ @ O @ -
Y (
8.  Who among the following treat% administrative system as ‘Steady State” system ?
(1) Woodrow Wilson Vi < (2) Max Weber
(3) Peter Drucker - (4) Karl Marx
9. Which of the followillg statements is correct about the human relations movement ?
(1)  Building theory based on having better relationship with each other
(2) The worlﬁrs are irrational in their approach
. (8) Taylor’s followers thought his ideas are better than Elton Mayo
(4) Workers' p ddctivity is not the result of working conditions but the result of emotional
response ofl the workers to the work performed
10. Which one of the following is not a merit of Centralization ?
(1)‘1 Facilitates Personal Leadership
(2) " Improves Efficiency
(3) Effective Communication
(4)  Uniformity in Action
s T ;
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11. Which one of following has major impact on Herbert Simon, when he was writing
‘Administrative Behaviour” ?
(1) M. P. Follett (2) Elton Mayo
(3) Gulick and Urwick (4) Chester I. Barnard
12.  Which of the following, according to Warren Benis, distinguishes a manager from a leader ?
(a) The manager accepts the status quo while the leader challenges it.
(b) The manager follows the rule and regulation while the leader formulateg; tules and
regulation.
(c) The questions of manager are how and when while these are what and why 11;( case of
leader. r
(d) The focus of the manager is the system and structure of organization, while the focus
of leader is people. {
Select the correct answer from the code below : . d
(1) (@), (b), (c) and (d) . & S
(2) (), (b) and () /_/ ’
(3)  (a) (b)and (d) / |
4)  (b), () and (d) r.*’ \
13.  Which of the following statements are correct regar‘l Jg’g the features of delegation ? Select
the correct answer from the code given below :
(a) Itisirrevocable \ { -t
(b) It relates to authority .
(c) It can be general or specificy J‘r
(d) It relates to the pos1t10n¥ E
Code :
(1) (a), (b) and (0)_
@ () (©and(d) -
() (@) (b)and (@ " |
(4) (a) (9 and (d)
" 4
14. According to Karl Marx, which of the following is not the correct source of historical origin
of bureaucracy ?§
(1) Religion (2) Agriculture
(8) Commerce (4) Formation of state
15. Which of the folllowing statements about the merits of comparative public administration is
not correct ?
(1) "' It has expanded the scope of the research in social sciences
(2) " Itrhas helped generalization and the process of theory building
(38) It has helped analysis of different administrative systems of the world
(4) It has constrained the philosophical horizon of the students and administrators
v [ [ LATHIARAIN ;
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16.

17.

18.

19.

N-01417 ‘m““"“"““

Which one of the following is incorrect regarding the characteristics of Sala Model as
enunciated by Riggs ?

(1) Incidence of unofficial influences in decision making
(2) Absence of agreement about values
(3) Incidence of normlessness
(4) Absence of polynormativity .
f
Which one of the following U.S. Agencies manages the civil services of Federal Govei‘{n}{ent ?
(1) United States Civil Service Commission l'
(2) Federal Labour Relations Authority (FRLA) : .
(3) Office of Personnel Management (OPM) & { .5'
(4) Office of the President /f' # |
f |

/

Consider the following statements about British Pr1 Mmlster and select the correct answer
by using code given below :

(a) There is no constitutional definition of the Briti. {Prlme* ‘Minister.

(b) The powers of British Prime Mihister are mattelr of conventions and usage.
() The Prime Minister by tra&'i‘ti@{l is First Lord of ;Freasury.

(d) He is usually the Minister '}or the Civil Services.

Code : A

(1) (a)and (b)  { J{
(2)  (a), (b) and (c)

(3) . (b) an ((3

)

Which one of following statements is not correct about the Civil Service Code of United
Kingdom ? |

(1)| It forms part of the terms and conditions of civil servants.

(2 ) « The Civil Service Commission hears complaints under the code from civil servants.
(3) The code covers honesty, integrity, impartiality and objectivity.
4)

4) It covers disagreements about the merits of policy and management decisions.

| 8 Paper-1I1
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20.

21.

2.0

a1 LT 1

Match List-I with List-II. Select the correct answer from the code given below :

List-I

(Name of British Committees)

List-1I
(Related with)

(a) Fulton Committee (i) Standards in Public life
(b) John H. Whitley Committee (i) Generalist and Specialist administration
(c) John Whytt Committee (iii) Disputes Settlement on service conditions
(d) Nolan Committee (iv) Parliamentary Commissioner for
administration {

Code : -'r‘;

@@ (b) () (d) { r
® @ @) @ @G
(2) @) (@) (@Gv) @) _ v
@) @ O @ @ '
@ @O (@v) @@ () /‘J B 'i

*
Match List-I with List-II and select the Correg:t answer by using the code given below :
List-I | List-I

(Author) (Book/W 31
(a) U.L. Goswami ()  The Methodology of Social Sciences
(b) Robert K. Merton (i) The Structure of D?'velopment Administration in India
(c) Peter Blau (iii) Riader in Bureaucracy
(d) Max Weber (IE]);i. Bureaucracy in Modern Society
Code : =

@ (b) () (d)
W) 0 @ @) 6]
@ @) O )" i)
@) v @)@ o
@) @ Gy @) 0

a
Assertion (A) : E‘ cross-culture and cross-temporal approach made Weber’s administrative
nalysis substantially ecological in character.

Weber studied the socio-cultural and economic conditions which stimulated

Reason (R) :
: the growth of bureaucracy, particularly in the West.

Code :

(1)% _Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) . Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (;\) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Paper-II11
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23.

24.

25.

26.

27.1

According to F.W. Riggs, which one of the following is not a feature of Prismatic Society ?
(1) Selectivism (2) Particularism

(3) Attainment (4) Poly-functionalism

Which of the followings are the features of Administrative Development ? Select the correct
answer by using the code given below :

(a) Itis the development of administration

(b) Use of Information Communication Techniques ; r" )
(c) Transparency and openness f e
(d)  Increasing size of bureaucratic structure

Code : « .

(1) (a), (b) and (c) ir { "E.

(2) () () and (d) P

(3) (a), (c) and (d) ..'f I|

4)  (a) (b)and (d) [ \ /

Which one of the following is not an administrative\fégmre of'developing countries ?
(1) Dominated by the legacies of the past f 8

(2) Resistance towards Cha_‘.ng,q," d.){

(3) Dominance of centralisifig| tendencies
(4)

4)  Dominance of specialists in administration

-

International Bank fdr Refionstruction and Development commenced lending for India in
the year :

(1) 1947 * ) 1948 (3) 1949 (4) 1950

a
Which of the follfwihg statements is/are not true of the highest decision making body of
WTO ? Select the correct answer from code given below :

(@) The highest decision making body of WTO is the Ministerial Conference.

(b) It usually meets every six months.

(c), It brings together the all members of WTO.

(d) ':" It can take all decisions on matters under any of the multilateral trade agreements
Code

(1) (a) only (2)  (b) only (3) (9 and (d) (4) (a) and (d)

a1 LT 2
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28. Match List-I with List-II and select the correct answer with the code given below :
List-I List-1I
(Mughal institution) (Present institution)
(a) Sooba (i)  District
(b) Sarkar (i) State or Prant
(c) Pargana (iii) Collector or Head of the district
(d) Faujdar (iv) Tehsil :
Code : ! p
@ ® © @ {
M @ 0 @) G { f
@ O @ @ @ '
G) @ @ @ 6 2 4 ,
4 O @) @ () . & \
-
29. Who is the ex-officio Chairman of the Civil Services Board in India ?
(1) Principal Secretary to PMO (2) r-"lHome Secr_}letary
(3) Chairman of UPSC (4) f Cabin%t?cretary

30. Cabinet Secretariat is : R
(1) Constitutional body | “2) Line aggncy
(3) Staff agency . J‘r 4) Auxilia1l'y agency

Vi

31. People’s participation in gox;érnance has grown because of which of the following reasons ?
(a) Expansion of government responsibilities
(b)  Economic diversification and resultant prosperity
(c) Explosionjof knowledge and communication
(d) Failure of Ibureaucracy to meet growing demands
Select the correct answer by using code given below :

"(1) (a)and (b)‘f
(2) (@), (b) and(0)
®) (@ (©and (d)
4" (), (b ) and (d

'.

32. The Second Administrative Reforms Commission on “Organizational Structure of Government
of India” has recommended that the number of levels through which a file passes for a
decision should not exceed :

(1) Two (2) Four (3) Three (4) Five
S T T —
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28. geit-1 ! Geit-11 § YAfad HifSe | 1= fu T e § 92 39 1 =51 HifS

g1 Hei-11
( TITT G ) (SEHT HeRl)
(a) @) foem
(b) TEHR (i) T =G
(c) TUM (iii) wHTEAl =1 TS sreae
(d) THISER (iv) dedra
< : {
@@ (b) (9 (d) {
1) @ @ Gv) (i)
2 @ @ (@) (i)
®) (@) @) @) @ o
4 @ (v) @) (i) . 4 \

29. WA H ek Hell SlIE o U 3TeAe hid € ? ,fﬂ’
(1) 9o R FrafeE ® guE A () [edta |

(3) HH eh YT STTERT 1 TeAe] (4)’%;&3

30. Wfmves wfvared fifed § & Fn g ? —
(1) e Geen . ‘@ T 3@&@
(3) TWIh HHH \ - f (4) HeE, ATHRT
A
31. YA § S wrieR 3T SR 9§ wel 7, S ¢
(a) THR HI @R w1 fowar
(b) emffen fefafues 3R, 3% RO T T
() M ﬁ?@wwﬁmﬁ%
(d) . =t T 1 GU HA H AR 1 fercheran
;e e = T HE IR BT T
(a) ¥R (E;T |

L

@) (@) () T [c)
() @) (© ()
(4) (@) (b) ()

a

32. ‘N WHR F HSAHE T T G Tl guR oM ¥ ey & 8 fR fad fofa %
o foret Trget st Fofa TRl | ToRAT ey, ST T& fohas | SmeT =18t Bt =fey 2
1 2) =R (3) (4) =

)
s (11T .
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33. Which one of the following departments of Ministry of Finance is responsible for the
preparation of budget of Government of India ?
(1) The Department of Revenue
(2) The Department of Expenditure
(3) The Department of Economic Affairs
(4) The Department of Financial Services
s
34. Ajay Tyagi Committee set up under Department of Economic Affairs recommended for
which of the following ? {
(1) Digital Payment { f
(2) Setting up of Financial Data Management Centre (FDMC)
(38)  Setting up of NITI Aayog - " g
(4) Reconstitution of Krishna River Management Board (KRMB) (
»
35. Which of the following is a subject 1nc1ude51 in the Concurrent List of Schedule 7 of the
Constitution ? / ,'
(1) Railways (2) | Post and Telegraphs
(3) Betting and Gambling 4) Populat%fl Cont,rol
36. Match List-I with List-II and select ﬁhe correct answer by using code given below :
List-I N ¢ List-IT
(Term) __h . (Meaning)
(a) Recruitment (i)  Order for holding the position
(b) Selection !i' . (i) Attracting candidates for service
(c) Appointment ° { (iii) Selecting the candidates for position
(d) Placement (iv) The office where the appointee is posted
Code : ‘4
(@ (b) 4o (@
O @ 6 (@ W
@ @ @ /v ()
G i) @ |6 @
@) @ G, 6 @
L]
37. Training framework of the Probationers of Indian Foreign Services as per the framework of
the Ministry of External Affairs should not exceed a total period of :
(1) 12 months 13 months (3) 14 months (4) 15 months
a7 \IIHI“INIHH\I“II\HHH|||||||\|H|\|H||||H|\|||H|| 1
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33. fa=ifora § 9 fag 9omer o1 SiA-91 fa9m 9Ra TR & I91e 1 991 W & fau fear € 2
(1) TS faum
(2) = favm
(3) TR e fasm
(4) fo<ita gan favm
34, s T % FreT 3 st T e e a3 e 8 4 e e 2
(1) fefrea spmam {
2) foxita stk yorem s (THSITAE) 1 TTo J f
(3) Hifd s 5 Tera
(4) FOM A YoE IS H TS
'i
35. frfafea § 4 sH-91 fowa Sfaum st qe aﬁ%ﬁ Ca HIHquT T | gfmfad €2
1) Yem (2) /= v )
@) s (4)’3?#@\1%
36. Wlﬁwﬁnﬁgﬁrﬁaaﬁmlﬂﬁﬁwﬁﬁﬁwrwmwaﬁm
-1 < 'ﬁ?ﬁ 11
(vrs2) Y S Gah
(a) ol ) U8 % URU & faU smew
(b) = ‘ (i) 9 & faw stvafelEl 1 eeRfta we
) frafw { J{ (i) e % fou stefef 1 =IA H
d) fEeE | (iv) e el R e =i H1 yeeenfuq fe=n s €
Fe 4
(@) (b) T) \ (d)
1 @ @ (@ )
@ ) @) /fv) (i)
B) () @ (@O @)
@GO )
37. WA faw S % uRehan st v wfe S g ety ke W % a
3TER Freifera & & forad samen =12t S =few ?
(1) 129= 9 (2) 13HEH (3) 149EH (4) 159E ¥
o [ F{HTMERUR AN .
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38.

39.

40.

41.

42,

Which one of the following district is the smallest by territorial area in India as per 2011
census ?

(1) Central Delhi (2) Yanam (3) Mahe (4) Daman

Who narrated this statement, “Finance is as universally involved in administration as oxygen
is in the atmosphere “ ?

(1) Lord Hewart (2) David Lloyd George t
(3) Morstein Marx (4) Davis Keith \ p
{
Which one of the following pairs is wrongly matched ? f f
(1) Term of “Lokpal’ - Coined by Laxmi Mall Singhvi
(2) Creation of ‘Lokpal’ - Recommended by 1%t ARC ¢
(3)  First Lokpal Bill introduced - In the year 1968 \ (
(4) Lokpal and Lokayukta Act, 2013 - ?fﬁ(mmené'égl on 18™ December 2013
|

f/ , ]

§ I
The Second Commission on Centre State Relations ov_\;n as the Punchhi Commission was
appointed in the year :

(1) 2007 (2) 2010 (3) 14&7 4) 1999
A (
Citizens’ perception of the state,%'nd)ﬁts functionaries is primarily based on :
(@) Role as a service provider
(b) Role in providing a reSponsive interface between the citizen and the public services
(¢) Role in improving the quality of administration
(d) Role as law enfprcer and regulator

Select the correct answer from the code below :

(1) (b) and.(c
(2) (9 and (d)
() (@ () andfq) |
4 (a) (b) (c) and (d)
43. Which of the foﬂowing is not a department of the Ministry of Home Affairs ?
(l)l'a Department of Boarder Management
(2) 'f'. Department of Official Language
(3) ]5epartment of Social Defence
(4) Department of Jammu and Kashmir Affairs
s TR "
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38. freiferd § WA H 2011 1 SFITUAT & STTIR RTfeTeh &5 6 YR W Fod Srel fSel -9 § 2
(1) ¥z feesdt () W (3) e (4) =
39. ‘‘fo wrEife €9 @ TemeE § 36 @ Hen 3T el & 9 TR Siferis araer §'' A fhrew
FYT T ?
1) e g (2) <SfaedEe SiS (3) T A 4) <fag ;ﬁ:a
40. frefafed § & $F 8 gafaa =& 22 { s
(1) ‘e’ v - e oo faudt gry s T f
(2) ‘“IreRdTe’ Rl TS - HWWQWWWWWW
(3) YUY WU fage qrEentud - a9 1968 ;
(4) ik 3R wrenge sifafEm, 2013 - 18 TR 2013 ﬁ i fen
41. FH=-Ued FrrYl W1 fgdta s, 59 gt Wémﬁ wn—ll.;wudl ?, &1 frgfaa form o & =t ot 2
(1) 2007 (2) 2010 ’I 3) %9;;’ (4) 1999
42. waﬂwﬂ%ﬁwﬁ?ﬁ%aﬁﬁwﬁaﬁaﬁ mwmwwﬁmm TR 2t § 2
(a) T Y % T H gftrhn -
(b) Wﬁ?aﬂimﬁmﬁ%@ﬂﬁﬁwﬂaﬁ?ﬁam SUATed YA H SHhT fHeR
(c)  URMEA hi T[UrE YR H Y fHeh1
(d) HTF AN FA Il IR fafames wat o 9 H e
= faw T e § W EW T = I :
(1) (b) ¥R ()
(2) - (¢) ST (A
/G () 0 aﬂv&
(4) (@), (), (© FR ()
43. ﬁﬁfﬁmﬁ@aﬁﬁ—mwwaﬂﬁrm?ﬁ%?
(1) e forsm
(2) ¥ TstvTen T
(3) St e v
(4) 7 TS wRER HEed i faam
s [ REAHEAANIH 1
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44. Who among the following is not part of the collegium recommended by the Second
Administrative Reforms Commission to recommend a panal of names to the Chief Minister/
Cabinet for the post of Chief Secretary ?

(I) A Minister nominated by the Chief Minister

(2) The incumbent Chief Secretary
(3) The leader of the opposition in the State Legislative Assembly
(4) Speaker of the State Legislative Assembly

P
[

45. Which of the following statements are correct regarding the members of Union Public.(Se}rvice
Commission. Select the correct answer by using code given below : '

[

(a) The members can be removed by the President on the ground of nisbehaviour.

(b) The matter of misbehaviour of the members can be enquired by the Supreme Court or
the High Court. - ¢

(c)  The term misbehaviour concerning the members is still uhdefined.

(d) The members can be removed even witho/}pthe reference of the Court by the President
on ground of infirmity of mind or body.

Code : .-'f l I'I
(1) (a), (b) and () ,. \
2 (b), () and (d) 4./

(3) (), (c) and (d) Y
4) (), (b), (©) and (d) 4 {

{

46. Who defined research as “manipulation of things, concepts or symbols for the purpose of
generalizing, to extend, correct or verify knowledge, whether that knowledge aids in

construction of theory or practice of an art” ?
(1) Einstein - (2) Einstein and Infled
(3) D. Slesinger J{ (4) D. Slesinger and M. Stephenson

47. Folk Wisdom plievalent in a culture :

(1) May serve as a source of hypotheses

i -~

[ (2) Reflects thejvalue orientation of a culture
(3)  Denotes that value orientation of a culture is source of hypotheses
(4) Does not relate to hypotheses in any manner

48. Pre-testing in research methodology means :

(1)% , Testing of hypothesis

(2) . "I;esting the data collection instruments
(3) Ensuring efficiency in data collection process
(4)

4) Maintaining standards in data analysic process

arar [ RIFHITA
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44.

45.

46.

47.

48.

g Jemafeh GUR STE & fAwie & oER ffafed § 9 & §=1 9f9d & 18 & fag
e/ HeHEe i A % U9 St SR HA & T IS Sl 9rT T& 2l € 2

(1) HeIH: gr wAM Tk H3it (2) USEY HEA Hiwd

(@) T fourmaw b fadt a3 (4) O faumywn o steas

frfafea § 9 $9-9 %o 99 e o1 3TE0 % TSE & o H T8l € | ?ﬁ‘&ﬁ’@@?ﬁﬂéw
&1 9949 SIS :

(a) WEHI % THARR F MR W T GRT IRERA a1 S Fehell 7 |

(b) HSEH TR % HIHA Sl Sd IATH A awmwm?aﬁwuﬁfﬁ|
(c) Fewl ¥ Heift gederr weg a1+l ot sraRfa 71
(d) W@wﬁrmw%ﬁ%m%ﬁm&ﬁmmwsﬁm%wwm

AT TohaT T Tehd B

(b) ¥R (o) A
(9) ¥R (d) /
(c) &R (d)

(b

), () ¥R (d) V

freafafegd § 4@ foan “IA & HTHWI*HWUT, Iqh ﬁl’?ﬂ(, el 31al Seq o JAsH 9 e,
STAURONST AT YT i wwﬂmdﬁi&@‘a‘s’aﬂ fagid S T o1 el F 21 T TEREn St
1 F w9 H STEuE @ gfenig feean ?

(1) TN " (2) STEE T TR

(@) . wffm - (4) El. WIER T T LT

(@),
(b),
(a),
(a),

a

il
forelt s 1 srtfer i foves -
(1) IFeH F E T H FT F THA
2) 9 HEHfd % Hqea sfufas i uRafad wa e |

(2 .
[ 3) wEffi= 2 fr depfa o g stfufemama ufteesn =61 & 21
4)

fordt ot T& 9 Ifehea T 9 Gefyd &l 2id1 21

STIHYM HrE JTel § g8 TRIeT0r § o A © 2

(1), afRehea &1 gdeo

(2) ¥ TSl TG SUHTN i Wi

(3) Hierer Gugo ufshan H swreiemar iafeaa s
TRl foreetwor gfshan H HIFehi sl STR&TO hTAT

a7 ||H|\|H||||||\||H||H\||||H|H|\||H|\|||H||\||\||\|\|II\ 2
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49.

50.

51.

52.

53.

Which one of the following is not correct regarding the process of editing of data ?

(1) Itis a process of scruitinising the data.

(2) Itis undertaken to improve the quality of data for coding.
(3)  Editing helps to avoid coding problems.
(4) The coding is essential for tabulation of data.

Who initiated the process of introducing social planning in India ?
(1) J. L. Nehru (2) M. Visvesvarayya 'f; )
(8) Sardar Patel (4) Mahatama Gandhi f e

Ty

Which of the following matters is not within the jurisdiction of Ministry of Social Justice and

Empowerment ? r

(1) Affairs of persons with disability "~ B (
(2) Affairs of Senior Citizens ,-‘// £ .
|
(3) Affairs of Scheduled Tribes / . |
(4)

[ |
Affairs of Socially and Educationally éackwaﬂii Classes

r

Which one of the following is not a characteristic of Ciwvil Sociéty ?

(1) It is non-state actor/ institution‘ S

(2) It enjoys autonomy and aﬂth&rgity of state
(3) It persuades the interest of common man
(4) It facilitates citizens participation in governance

i,

Which one of the foflowigg is a provision of ‘Right of children to Free and Compulsory
Education (Amendment) Bill 2017 ?

(1) Free and Eompulsory education for children between 6 and 15 years
2)
(3) Acquisitionfof minimum required degree by unqualified teachers of schools
4) a new Article 22A to the Constitution of India

Specification of minimum norms in secondary schools

Inclusion o

54. Which one of thle following is not a Maharatna Company ?
(1)I'n Steel Authority of India Ltd. (SAIL)
(2) 'f'. Oil and Natural Gas Corporation (ONGC)
(3) Coal India Limited (CIL)
(4) National Aluminium Company (NALCO)
s T S
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49.

50.

51.

52.

53.

54.

frAfafad § 9 ®F STihel & U o1 Uichd & Hag H el &l ¢ 2
(1) I 3AfhSl h! HIE-Vie HT HI Th UlhAT T

(2) 3UH FHedgdl % fau STiweS! i e H YR SR ST ¥
(3) HURH ¥ FHedgdl THE § g9 | T fierd g

(4) TSl % HWRUMEH % T Fedgal STEavde T |

fr=riford ® § forga vrRa o wHTfSier e 1 9fshan sl gy foman ?

(1) OR A TeE  (2) TH fowewawan  (3) WER U (4) were it
I’ r

=1 | 9§ shi= @ T gl = Sfi stfemiar gemed & Wwﬁﬂ'@%?
(1) fe=i 9 Heifya s e
s A & Feifad HE | *

-

(2) /_‘4
3) ATYfd SHsfadl ¥ Heiftrd ]
4) Wmﬁmw@ﬁgﬁmﬁﬁyﬁf%w |
frefafed § 4 se-w = fafaa gos ) foran w8 &j
(1) I TR-TRHRT wal/Feen § 44 {
(2) TEH THR i T @@Wﬁ%ﬁ%

(3) T ST 3 el 1 TR B &

(4) I e H ARG i TFGRT T G S §

ﬁﬁ%{?@ﬁﬁ@ﬁﬁ'—rﬁﬁﬂm;}@‘ sAfem aet fran-stfuerr (Helem) s, 2017 %1 T 3use 2
(1) 6¥ 1594 & d=l o fog M. e W AfTard fren
2) - HeATHE Teenerdl § =[IaH Tehi 1 fafTast

4

(2)
/(3) Tommer & &ama frerhl gR1 =gAaw e feuft w6t wift
(4)

R W # T ST 22 F H1 FHERH

Fretfetfaa & & i i TRt e T 2
(1), et e st fa. (Fe)
(2) ¥ 7 &R Frepfoeh T Frm (SiesiE)
(3) A Sfean feifies (Hiemua)
(4) WA TegfafTem S ()

s (11T 2
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55.

56.

57.

58.

59.

Consider the Problems and drawbacks of Public Enterprises in India and select the correct
answer using the code given below :

(a) Political interference by the incumbent Government
(b) Low level of their operational efficiency

(c) Problem of Autonomy V/s Accountability

(d) Lack of innovative initiatives and research

Code :

1 (@), (b), (c), (d) {

2)  (b), (9), (d) /
G) (@) () () §
) @), © @ !

‘Start up India” Programme was Launched on ? . :

(1) 15™ August 2015 2) 15" August 2016

(3) 16" January 2016 (4) 2/6}1- January 2016

Which of the following is not an advantage _gff Goods an,tljl Services Tax ?
(1)  Unification and streamlining of manufacturm and sales

2)
(3) Shifting of the focus towards increasing the qua ity of setvices
(4) Significant step in the field of cﬁr?\ct tax reform f

Eradication of having multiple warehouses to ﬁ 1d tax

The System of Memorandum.oﬁjnéerstanding (MQOU) in Public sector was recommended
by which of the following ? Vi

(1) First Administrative Reforms Commission
(2) Second Administrative Reforms Commission
(3) N. Vithal Committee

(4) Arjun Sen Guptla Committee

Which of the following are the features of mixed economy in India ? Select the correct answer

 from code given.below
(a) Private owenership of means of production

(b) Important role of market mechanism
(c) Presence of a Large Public sectors along with free enterprises
(d)  Economic planning

Coade
(1)'y () and (d)
(2) = (@, (b) and (0)
(3) (b), () and (d)
4)  (a), (b), (c) and (d)
eones | LRI 24
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55. Rd H ook SEHi bl FEenst $iR i R faem e oiR fau T e ¥ W& S A = Hife
(a) USE TLHR GRI TSI TEaa
(b) TRt IREATCTCHSE HIAEH 1 4 TR
(c) Il S TSI hi FHE

(d) e Y8 Tsl SATHM i HHT

<< :

(1) (@), (b), (c), (d)

(2)  (b), (c), (d) L
(3) (), (b), (9 { r
4) (), (o), (d)

56. ‘'TETE 7Y 3fed’ s fohg ari@ ol URY o = 2 ol
4
(1) 15 3T 2015 (2) 15 3FT& 2016 (3) _ 16 el 2016 ((4) 26 SFeRY 2016
-

57. ﬁw@@aﬁﬁmﬁw@mwwwqaﬁwﬁ%?l
(1) fafmior eIk fasnt =1 T 3R SRelRe .
(2) X H T & A FF T @A T FATH \dj
(3)  HemAl i Urer H Gt hl AR A B WIERRDT
(4) Weuel X GUR A 85§ Hecqul el f

</
58. frfefan # @ fra g wesfE 4 H Tl 9 woned w fawt w

(1) 9| Y ER SAEn 2) Tgdfta wemEfTe gurR A&
(3) T fozsw wfafg (4) TSA 99 e wiafa

:
59. frefarad § ¥ 9 wra § fafea sreforawen 3 fadan €2 99 o T g2 § § W SR = w
(@) e g ot T
[ (b) R A F R sgfir
(c) d&d &3l o WY s SafEl s surefd
(d) enfeis frem
W: |

(1),
(2) ¥ (a),
(3)
(4)

I s

-
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60.

61.

62.

Performance of Public enterprises can be assessed on which of the following criteria ?
(a) Profitability

(b)  Productivity

() Adherence to time schedule and cost effectiveness

(d) Satisfaction of the people at large

Select the correct answer from the code given below :

(1) (@), (b), () and (d) :

(2 (b), (0) and (d) %

(3) (@) (c) and (d) {

(4)  (b) (@) and (9) f f
Consider the following objectives of National Rurban Mission<and select the correct answer
from the code given below : &~

(@) To stimulate economic development " i 5

-
(b) To improve basic services
|

/
(c)  To create well planned Rurban clusters/ , !

(d) To create a cluster based development with a ‘ura_lJ soul and urban amenities

/

(1) (9 and (d) i
(2) (b), (¢) and (d) B {

() @O @add o f |

(4) (@), (9 and (d) b

Which of the following Commission recommended for establishment of National Institute of
Public Administration ?

(1) M.M. Punchhi tomrfu'ssion

(2) First Administrative Reforms Commission
(3) = Second« A&lministrative Reforms Commission
4)

National Law. Commission

14t Finance Co“fmlssmn recommended Basic and Performance grant in the ratio of 80:20

63.
percent to which of the following ?
(1)f Panchayats (2) Municipalities
(3) States (4) Sick Public Sector Units
L]
64. Theformation of ‘District Council’ was recommended by 2nd ARC in which of its following
Reports ?
(1) 11th (2) 12th (3) 13th (4) 15th
s T 2
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60. T STH % FHEOEA HT ke (=fargd ¥ 9 T AHguel W fHar < gehar €2
(a) NIl
(b)  ScATEH
(c) EHF |Ruit 3T’ SARTA YHTRIIET 1 ST
(d) < ol e
= QU T e § FE W A1 FA HIWT
1) (@) @), () TR (d) p
) (), () { s
() (@) () 3R (d) { [
4 ) @ ()
61. @aa—aﬁﬁm%ﬁmﬁmﬁsﬁmﬁwﬁﬁm@nﬁ%@m%ﬁwﬁ%ww
T W /_/ &
(a) T faerma 1 ARG HT / '
(b) et HaeT § goR / J
(c) G 316 TRl 1 o \é;m
(d) TETor ST SR vl Glaeed | g e S Tosh H s
< b & f
(1) (¥ (d) </ '
2) (), () () LT
() @ (), @@
(4) (@) (M ()=«
:
62. frmfafed & 4 frd Wﬁlr@ﬁa?ﬁmwwaﬁwaﬁ ST i ?
(1)  TATAG TR (2) HUH YMEE ER AR
rs focdTr TrTaeh. Gom TrinT (4) T fafy smm
63. 149 fau emm A fr=fafea § 9 feas faw ga qon SR & fag 80:20 wfded & U
. 3TIIM Y ST Al 2
(1) v=mEe % fae (2) TR % fag
(3), Tl W ferg (4) T TIeh SUHH THIAT oh T
64. @?ﬁﬁmﬁﬁﬁﬁm’{ ST g 3794 fohe gfered # * fSten ssfaa’ < e ot fawriier &t =it off ?
1 119 2) 129 @) 139 (4) 159
st R RUAARI 2
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65.

66.

67.

68.

69.

(4

Which of the following statements are true of National Capital Region (NCR) ? Answer by
using code given below :

(a) NCR is an urban region only
(b) NCR is a rural-urban region
(c) Atotal of 22 districts of three states (Haryana, Uttar Pradesh and Rajasthan) are included

in NCR
(d) National Capital Territory is also a part of NCR
Code : r
(1) (b), () and (d) () (@), (b)and (©) y
(3) (@), b), (© and (d) (4) () and (d) I {
Which one of following statements is not correct about Lasswell’s vision of policy sciences ?
(1) It is multidisciplinary (2) Itis descriptive = -
(3) It is contextual (4) TItis prob;em—orie'fnted;ﬁ_

Who made the statement that “Public Policy 'S'pr‘;ot a d‘:zcgision ; it is a course or pattern of
activity” ? / . |'

(1) Thomas R. Dye (2) | Richard Bgse

(3) Robert E. Stone (4) Rober}]?‘ueberry

The “policy science” as a social scienge discipline and f)r'éc’ﬁcé emerged with the publication
of Harold Lasswell’s essay in 1951. Whieh one of the following is correct title of that essay ?

(1)  The Policy Orientation "% y (2) The Policy Sciences
(3) The Policy Approaches ¥ { ~  (4) The Policy and Democracy

Live Stock Plays a vital role in Rural Development. Which of the following statements in this
regard is not correct 2 = »

(1) It helps generate gainful employment.
2

(2) It helps the landless, the small and marginal farmers.
(3) - It provides nutrition and food security to the country.
(4)

It raises the social status in the caste-hierarchy.

Which of the follﬁwing are the components of rural development policy ?

70.
(@) Self-reliance
(b)’ Distributivee justice
(c) The means of production and appropriate technology
(d)' ; Man and his environment
Seleet the correct answer from the code below :
(1) (@), (), © and () (2) (a), (b) and (©)
(3) (), () and (d) (4) (@) and ()
arar [ HIHIRURNAN 2
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1) (®) (0T (d) 2) (a), (b) T (o) f

3) (@), () (c) T (d) 4 (U

ﬁﬁ%ff@ﬁﬁﬁﬂﬁ?%mmqméﬁ‘quWWW’@H’%@??H@H@T%’?
(1) TEgmEss (2) TaH@EReT (@)  FTWuEHS (@) € IoegEt §
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71.

72.

73.

74.

75.

*(d) Spoils systé’fﬂ

Chronologically arrange the following programmes for the amelioration of the socio-economic
conditions of the rural population in India :

(a) Integrated Rural Development Programme
(b) Community Development Programme

(c) Twenty-point Programme

(d)  Food for Work Programme

Code : Ly

1) (@), (), () (d) 2 (k) (© () @ {

3) (@), (©), (b), (@) 4 (©) (b) (a) (d) L
Who among the following recognise administration as a fourth branch of government ?
(1) Woodrow Wilson (2) L.D. White {

(3) W.F. Willoughby (4) John Pfiffner f

AN S
Which one of the following is not a part of sup(ei‘gision 8
(1) Superintendence of the work of suborq,ﬁates |

(2) Direction accompanied by authority | J
(3) Observation of authority \ '
(4) Delegation of authority dj :
In which of the following years the Iyaﬂiament enact«!.’d the All-India Services Act ?
(1) 1950 (2) 1952 4 (3) 1951 (4) 1956
Vi
Match List-I with List-IL Select the correct answer from the code given below :
List-I . List-II
(Main characteristic of the USA Personnel Administration) (Period)

(a) Guardian Bureaucraj:y @i 1937-1955

(b) Administrative Management (i) 1789-1829

(c) Professioftal Career (iii) 1829-1883
(

iv) 1955-1970

Code :

@@ (b) /) (d)
R (1) (%i) I(fii) (fY)
@ ® O e @
Gy @) ) - (v) (i)
@)y (irii) (iv) (@) (i)
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frefafed wrishdl sl YRA § T STTeTel bl SreTfsieh—3Tfefer feurfaai 3§ guR o STUR hietshd |

1) (@) (b), (c), (d) ) (®), () (d) (@ /
3) (D), (© (b), () 4)  (9) (b) (a) (d) { 2

freiferd B @ SiF I8 Fed € o Joned TR i =g e §2
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(1) st 3 e a sreie / -'
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(4) G H YAESH
%\
ﬁmﬁmﬁﬁﬁwaﬁ@amaﬁaﬁﬁﬁw@ma{uﬁgﬂﬁuﬁaﬁﬁﬁwwm?

(1) 1950 ) 1.%5? { 3) 1951 (4) 1956
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i1 - T -11
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Space For Rough Work
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